SUPPLEMENTARY TABLE 7.  Logistic regression model for predicting DA+ (n=128) vs DA- (n=121) in all subjects
	Model term
	Estimate, β
	S.E.
	χ2
	OR (95% CI)
	p-value

	Intercept
	-0.8994
	0.6445
	1.95
	
	0.163

	Age in years
	0.0165
	0.0167
	0.97
	1.02 (0.98, 1.05)
	0.325

	Smoking:  
     Ex-smoker vs. non-smoker
	0.2584
	0.2134
	1.47
	0.94 (0.47, 1.86)
	0.226

	     Current smoker vs. non-smoker
	-0.5800
	0.2217
	6.84
	0.41 (0.20, 0.83)
	0.009

	Exposure: MDI/TDI vs. HDI
	0.6827
	0.1556
	19.25
	3.92 (2.13, 7.21)
	<0.001

	Months of exposure
	-0.0001
	0.0013
	0.42
	1.00 (1.00, 1.00)
	0.517

	NAT2rs2410556
	0.1187
	0.1689
	0.49
	1.27 (0.65, 2.46)
	0.482

	NAT2rs4271002
	0.2542
	0.1595
	2.54
	1.66 (0.89, 3.11)
	0.111

	NAT1rs8190845
	-0.4303
	0.3109
	1.92
	0.42 (0.12, 1.43)
	0.166

	NAT2rs13277605
	-0.1009
	0.1847
	0.30
	0.82 (0.40, 1.69)
	0.585

	NAT1rs8190845*NAT2rs13277605
	1.5659
	0.7707
	4.13
	4.79 (1.06, 21.68)a
	0.042


a Odds of DA+ when minor alleles are present at both SNPs vs. when only major alleles are present at one or both SNPs. Goodness of fit: χ2= 9.78 with 8 df, p = 0.281.

